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Answer the Questions from any one Option.

OPTION-A .
(Social and Political Geography)

(ATGE GE AafoF TeNwT)
Paper : GGY-RE-6016

OPTION-B
( Geography of Resources and Development)

(T ST T wootle)
Paper : GGY-RE-6026
Full Marks : 60

.Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A

( Social and Political Geography)

(FIfeF e Fecafos grale)
Paper : GGY-RE-6016

1. Answer the following questions : 1x7=7

©Fd oA Tl Tl e

(@)

(b)

(c)

(d)

(e)

Name the boundary line between India

and Pakistan.

oS HiF ARSI Ao ERFT TNEIR
i ot

Rudolf Kjellén was from which country ?

FOFF (SEH (TN (TR AR ST e

Apatani tribe is found in which state ?

oSN TGS (I IeHF A 2

Write the full form of ‘SAARC’.
‘SAARC’- s 7w ot

Name one book authored by Friedrich
Ratzel.
GO 3i5reret ARl I0© g3 [oisi A1 o |
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() Who coined the term ‘Geopolitics’?

Geopolitics *IF7(B! (I SSApIRfET 2
(g9 Who forwarded the Heartland theory ?
QT OF (I SIARpIRRE 2
Answer the following questions in very brief :
2x4=8
oo il 29 S ikfErg Bed ol 5.
(a) Define welfare state.
PN G ewt |

(b) Mention any two approaches to study
social geography.

A QAT Qg AT Ree 70! e
T

(c) What are the major social crimes seen
in slum areas?

I TR Ty AR SeRienE & e

(d) Mention any two characteristics of
buffer state.

Buffer I R 7ot 4 ey S
1
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3. Answer any three of the following questions
in short : 5x3=15

wers faal ey Reeea ofAbT o3 et ol ¢

(@) Discuss briefly about Rimland theory.
Rimland $§1 F™it$ 533 SNCEIGA 31 |

(b) Write briefly about the meaning and
significance of social geography.
2+3=5

%ﬁ;nﬁﬁgcwwﬁwmﬁamm
|

(c) Write briefly about Cauvery water
dispute.

TR T KR @sige 5 B |

(d) Explain briefly the geographical factors
influencing voting pattern.

(TR THoR @RS (SIS PRI AoR
TE ST IR0 0|

(e) Discuss briefly about the indicators of
social well-being.

AN T T IS ST A 3 |
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4. Answer any three of the following
questions : 10x3=30

fufeRe Reerar A6 e Bl fran ¢

(a) Discuss in detail the Heartland theory.
Heartland J@C5i IS QD1 1 |

(b) Discuss the International Boundary
dispute between India and its
neighbours.

ORI W ST (PFTEI NS N[O
T Ravs R wicsea 3t

() Discuss the concept of Geographies of
welfare and well-being and write the
importance of healthcare, housing and
education in welfare state. 4+6=10

FIAATEN G Gl TS I
TP YT TIER, JT F g oy

fewn
(d) Discuss the nature and scope of social
geography. 5+5=10
AR SR 243 wiF AR Ao
izl ¥
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(e) Give an account of the ethnic diversity | OPTION-B

of India with examples. | (Geography of Resources and Development)

= wife i | ¢ o )

() Explain the concept of social group and
discuss its different types with

Paper : GGY-RE-6026

1. Answer the following questions very briefly :

I

»
examples. 5+5=10 1 1x7=7
AT weT FooE iyt I W ZAR o | R SRS oS ST Bey ¢
APPTR SIZIPTR WA 31| | (a) In which of the following states black

soil is found ?

woTe O TN (N e e Wb oAl
T ?

—_— () Jammu and Kashmir
oY SiF iR
(i) Maharashtra
TG
(iij) Rajasthan
‘ (iv) Jharkhand
S
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(b) Nagarjuna Sagar Dam is built on which

(c)

river ?
AN A AH L Fre fafiet st Tarze
(i) Chenab
(W)
(i) Mahanadi
TR
(iii) Krishna
T
(iv) Damodar
L[e g

Which one of the following types of
resource is iron ore ?

(IR IR wete allt (FARY F7ovs fowse Am e
(i) Renewable

AT
(ii) Biotic
ke
(iii) Flow
LRIER
(iv) Non-renewable
SRR
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(@)

(e)

(9)

Answer the following briefly :

Give an example of man-made resource.

NFPB TS <5t Tt |

Which is the most important natural
resource for national development ?

T TAER IR0 (PARY AT T
SiBIRSLE BRI |

In which year did the word ‘sustainable
development’ come into existence ?

(I 57S IZTHN TR (B SRSE 2T ?

What is rural livelihood ?
g Sk e

2x4=8

v fRAFTE S Oex faa ¢

(a) Give two examples of renewable

(b)
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resources.

TR g 7hr SaigRe fal |

What is Green technology ?
FTeE agfe o B g@e
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(c) Give two examples of tertiary activities.

St o1 RS 77 S

(d) Mention two problems of deforestation.
RETiesoT wore R @1 757 U SR
S| ,

Answer any three of the following
questions : 5x3=15

wete Al Rt o5 emx Teq 53t o ¢

(a) Define resource and state its important
characteristics.

TS I Al I TR SN IMEETE S
=i

(b) Mention five means of forest resource
conservation.

IS T IR 5o Bolw S /14

() Write the importance of oceans as the
source of resource.

FoAvR B RBIC TRFINEIRT 99 Bl

(d) What are the characteristics of human
resource ? '

TR 7R RRR & Be

(e) Write a note on the relation between
environment and development with
examples.

TR #IRC S Baas iere 45! =9
| R ¢t G

Answer any three of the following
questions : 10x3=30

wete Al Rt st exm Sex Bl 3

(a) Explain the meaning and scope of
- resource geography. 3+7=10

T QU e i SRR gt 39

(b) Explain the process of Environmental
Impact Assessment (EIA). Explore its
significance in mitigating the
environmental consequences of
development projects. 5+5=10

AR PR YEEw (E1A) elfem oot 4
Sl eERs 7 |

(c) Describe the relation of population,
resources and technology. State how
they help in development of a region.

5+5=10
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G, T S YT To4F STl 11 |
@I @Bl ST RS GBRIE R s
FE HiEoA [

(d) What do you mean by environment and
resource management ? Explain it with
special reference to developed and
developing countries. 4+6=10
AR S 7= eI I [ el 2 B
91

(e) Discuss the different classification of
resources. Explain the need for
conservation and management of water
resources. 5+5=10

T Rifen ENRONRR St 341
TR, TR OIS IR e
TS N 4

(A Give an account of the world
distribution of iron ore and focus the

position of India in iron ore production.
6+4=10

q@%wﬁzﬁmﬁwﬁﬁwﬁmm
SFRT Gl GeAMTS SRST A T
SIS 49 |
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